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π π   = − − = − − = − −       
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4

4 4
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π π π ππ π          = + + + = +          
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 :�$���
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2
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2 2 2 2 cos sin
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π π   = − + = − +       
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2
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π π π ππ π          = − + − = +          
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)و1��03> : ا�����ة ا������ :  )cos cosx xπ + = )و − )sin sinx xπ+ =−  

اذن : 
3

4 4
1 cos sin 1 cos sin

3 3 3 3
z i i

π π π ππ π          = + + + = +          
          

  

4( 4 6 2z i= − 

 :�$���( ) ( )2 2

4 6 2 8 2 2z = + − = =  

4

6 2 3 2 1
6 2 2 2 2 2

22 2 2 2 2 2
z i i i

   ×= − = − = −      
    

4

3 1
2 2 2 2 cos sin

2 2 6 6
z i i

π π   = − = −        
)و1��03> : ا�����ة ا������ :  )cos cosx x− )و = )sin sinx x− = −  

اذن : 
4 2 2 cos sin

6 6
z i

π π    = − + −    
    

  

�����18:  
Aا������ A1 ����3 ا���د� 3z i= 2و− 1z i= 1و−

2

z
Z

z
=  

1.  A% <
� ��=�=% C
  .Zو2zو1zأ�- �

2. ���
 اZ a�$�I أb ا����ي <
Yا� ���cos
12

π وsin
12

π.  

1)1ا����� : 3z i= −     

 :�$���( )2 2

1 3 1 4 2z = + − = =  

3 1
3 2 2 cos sin

2 2 6 6
i i i

π π   − = − = −       

  

)و1��03> : ا�����ة ا������ :  )cos cosx x− )و = )sin sinx x− = −  

اذن : 
1 2 cos sin

6 6
z i

π π    = − + −    
    

  

 :�$���( )22
2 1 1 2z = + − =  

2

1 1
1 2 2 cos sin

4 42 2
z i i i

π π   = − = − = −  
  

  

)و1��03> : ا�����ة ا������ :  )cos cosx x− )و = )sin sinx x− = −  

اذن : 
2 2 cos sin

4 4
z i

π π    = − + −    
    

  

1

2

2
cos sin 2 cos sin

6 4 6 4 12 122

z
Z i i

z

π π π π π π          = = − + + − + = +          
          

  

2( ( )( )
( ) ( )
3 13 3 3 1 3 1 3 1

1 1 1 2 2 2

i ii i i
Z i

i i i

− +− + − + + −= = = = +
− − +

  

3 1 3 1
2 cos sin

12 12 2 2
Z i i

π π  + −   = + = +    
    

  

 �$��

3 1

2cos
12 2

3 1

2sin
12 2

π

π

 +
  
 = 
  


+
  =  

 

  �$��
3 1

cos
12 2 2

3 1
sin

12 2 2

π

π

 + =  
  


−  =   

  �$��
6 2

cos
12 4

6 2
sin

12 4

π

π

 + =  
  


−  =   

  

  ا��� أ��5;�� ��� ا��/ا�� ھ�:CوΒوΑ ����3 ا�$�-.:�����19
3 5z iΑ = 3 و + 5z iΒ = 7      و − 3Cz i= +     

A�@2B أن: )1 C

A C

z z
i

z z

−
=

−
  


 ا�Uاو�� و أن  ABC ا�N�=1اa�$�I أن )2[�;2BC AC=  

) )1 : ا ��اب )2 4 24 8
2

4 2 4 2
B C

A C

i iz z i
i

z z i i

− +− − −= = =
− − + − +

  

2( ( ) [ ]; a rg 2B c

A C

z z
C A C B

z z
π

 −
≡  − 

���� ���� 

( ) ( )[ ]; arg 2 2CA CB i π≡
���� ����

  �$��( ) [ ]; 2
2

C A C B
π π≡

���� ����  


 ا�Uاو��  2�  ABC ا�N�=1اذن [�;C  
2Bو�3�c أن :  C

A C

z z
i

z z

−
=

−
2Bاذن :   C

A C

z z
i

z z

−
=

−
  

2Bاذن :  C

A C

z z

z z

−
=

−
2اذن :  

BC

AC
2BCاذن :  = AC=  


�ت ';�� :B�C  
1(′ = + �

uz z z �'زاd� ا������ �@��
ذات ا���1��  T ا�
�
u   

 ���5� ��ا��
uz  

2(( )1Ω= + −'M Mz kz z k  ا������ �@��
�ھ� ا���5��� h

  kوΩ  #��03ا�Zي %��Uه 

3(( )α
Ω Ω= − +'

i

M Mz e z z z ا������ �@��
  �r��وران ھ� ا�

  αوزاو��Ω  Hا Gي '�0Eه 
�����20: 
F$1% �%���% 
2� ا��01/ى ا����ي ا�1$0/ب إ�� %��

 ا��� أ��5;�� ��� ا��/ا�� ھ�  Cو  Bو   ����3A ا�$�-    
:  7 3 ; 3 5 ; 3 5= + = − = +C B Az i z i z i  

A
 QM/رة ا�M �7�$′�85 ا�z  �7�$′و85�M ا�z  �7�$و��
ذات ا���1��  f�@Tزا'� 

�
u  ���5� �4ا�� 2− i  

A�@4 أن :  .1 2′ = + −z z i  �10�زا'�وd� ا������ �@��
  ا�
   f�@Tزا'�  Aھ� Q/رة ا�C �7�$�8�5 أن ا��7�$  .2
  f�@Tزا'�  QB/رة ا�B �7�$′'�د �85 ا��7�$  .3

′  )1 :ا ��اب  = + uz z z � ⇔4 2′ = + −z z i  

3ب �3z/ض )2 5= +Az i  : ��$23 5 4 2′ = + + −z i i  



 

5                                                           ������ 	
                                        ا����ذ: ��
 

 ⇔7 3′ = + = Cz i z #$%و C �7�$رة ا�/Q � Aھ

  f�@Tزا'� 
3ب �3z/ض  )3 5= −Bz i  : ��$23 5 4 2′ = − + −z i i  

 ⇔7 7 ′′ = − = Bz i z #$%85 ا�$��7  و�′B  /7ھ 7′ = −Bz i
 

�����21:����3  ��)ا�Zي %��Uه   hا���5 )3; 2Ω −   

  k=4و#��03 
A
 QM/رة ا�M  �7�$′�85 ا�z  �7�$′و 85�M ا�z  �7�$و��

 ���5���@h ����3 ا�$�7و�   A  ���5� �3ا�� 5= +Az i  
A�@4 أن :  .1 9 6′ = − +z z i  �10�و��  ا�
��@� ا������ ����5
�  QA/رة ا�A �7�$′'�د �85 ا��7�$  .2��5���@h 

)  )1 :ا ��اب  )1Ω= + −
'M Mz kz z k⇔ 

( )4 1 4Ω′ = + −z z z  
⇔( )4 3 3 2′ = − −z z i⇔4 9 6′ = − +z z i  

3ب �3z/ض  )2 5= +Az i �2  :4 9 6′ = − +z z i  

��$2 ( )4 3 5 9 6′ = + − +z i i #$%85 ا�$��7  و�′A  /ھ

3 26′ = +Az i
 

�����22: 
F$1% �%���% 
2� ا��01/ى ا����ي ا�1$0/ب إ�� %��
)و%���� ); ,

� �
O i j  

  ��� ا��/ا��  ��5��1ا���  Bو ����3A��A ا�7�$
: �4  ھ 8 ; 7 2= + = +B Az i z i   

A
   M′�85 ا�z  �7�$′و 85�M ا�z  �7�$و��

وزاو��B  Hا Gي '�0Eه   r @���وران  QM/رة ا��7�$ 
2

π
  

A�@4 أن :  .1 12′ = + +z iz i  �10�ا������ و �@��
 ���وران ا�
r  
ھ� r@���وران  QA/رة ا�A�@C �7�$ أن �85 ا��7�$  .2

10 11= +Cz i  

))1 : ا ��اب ) = 'r M M ⇔ ( )α= − +'

i

M M B Bz e z z z  

⇔ ( )2 4 8 4 8
π

′ = − − + +
i

z e z i i⇔  

 ( )4 8
2 2

π π ′ = + − − + 
 
cos sinz i z i z⇔

( )4 8 4 8′ = − − + +z i z i i  

⇔4 8 4 8′ = − + + +z iz i i⇔4 12′ = + +z iz i  

7ب �3z/ض  )2 2= +Az i : ��$2 

( )7 2 4 12′ = + + +z i i i  

7 2 4 12 11 10′ = − + + = +z i i i  
11ھ/  85�C ا�$��7 و%$#  10= +Cz i  

  
  
  
  
  
  
  
  
  
  
  
  

 




